
1991 r6

(r+) ftefrRrr qq<t t, tt6-fi i rr sr1vt( Bth qfura-r arq

rgvm d rrunr qiRqr .,

r+E ftffi 2,50,000

ftff fr ar{rd 9,00,000

qraa ffi 7,50,000

qkrea qq s,00,000

ze\s\rr Al4( *r)

< Sr. No. of Question Paper: 1991

Unique Paper Code : 62411224

EV
[This question paper contains 16 printed pages.]

Name of the Paper

Name of the Course

')emester

Your RolI No.......,..,....

GC-4

Corporate Accounting

B.A. (Prog.) I)iscipline Course

II
(

I

I

{

{

I
I

t

Duration : 3 Hours Maximum Marks : 75

,Instructions for Candidates

. 1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt all Questions. All questions carry equal marks.

3. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.
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(a) What are conditions which must be fulfilled for
redemption of preference shares? (5)l

(b) Cive journal entries to record the forfeiture of shares
and their reissue:

(i) A Ltd forfeits 600 equity shares of Rs 10 each on
which a shareholder has paid only Rs 3 9-
application but fails to pay Rs2 on allotment alc,
Rs 2.50 each on the first call and second and final
call. The shares are reissued at Rs g per share as

fully paid.
,

(ii) D Ltd. forfeited 100 shares of Rs. 100 each on
which a shareholder has paid Rs 50 on application
and allotment but fails to pay first and final call
money of Rs. 50 per share. Half of these shares
were subsequently reissued at Rs.9O per share as

fully paid. (10)

OR

(a) What is meant by buy-back of shares? What are it,[
advantages to the Company? (5).

(b) X Ltd. had 6,000, 12Yo Prcferetce Shares of Rs. 100
each, fully paid up. The Company had to redeem these
shares at a premium of 10%o. In order to finance
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(a) State the significance and method of Computation of r'

the following ratios:

(i) Current ratio

(ii) Debt-equitY ratio

(
(iii) Stock turnover ratio

(iv) Asset turnover ratio (10)

(b) From the following information, calculate Gross Profit

Ratio and Operatiog Profit Ratio.

OR

Cash Sales 2,50,000

Cost of sales 9,00,000

Credit Sales 7,50,000

Operating ExPenses 5,00.000

(e') qrqn fr n-<a-cr fuiRT 6i+ ari wgvn er *t

redemption the company had taken the following
decision:

(i) 40,000 Equity Shares ofRs. l0 each at a premium
of Rs. 1 per share.

(ii) Sold investments at Rs 2,50,000 (Book Value Rs
3,00,000).

The issue was fully subscribed and all amounts were
received in full. The payment to preference shareholders
was duly made. The company had a balance of Rs.
2,00,000 in the General Reserve Account and Rs 30,000
in securities premium accourlt on the date of redemption.
Show Journal entries in the books of the Company to
record the above transacti.ons. (10)
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(b) From the following information, Calculate Cunent Ratio,
Quick Ratio, Stock Turn
Ratio- 

over Ratio, Debtors Turnover

Average Debtors

Average Stock

Cost of sales

Stock

Debtors

Bills Receivable

Cash

Prepaid Expenses

10,00,000

2,50,000

4,40,000

1,00,000

80,000

20,000

60,000

8,000
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(ii) 2,so,ooo tqt t *qr rrqr ffin (etfr-c 1e 3,oo,ooo

sc+)

fuir{ qotdqr B{fu{fr qr d( {S {M pi w i xr< g€
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-r2. (a) Write a short note on Sinking Fund method of
Redemption of Debentures. (5)

(b) X Ltd issued 10,000 debentures of Rs 100 each for

public subscription at a discount of Rs 5 per debenture.

Application money payable was Rs 25 and the balance

was payable as follow:

On allotment Rs 4C

On Second and final Call Rs. 15

Applications were received for 95,000 debentures. A11

amounts were received

5

(c)
((

4 (o) fu+alrro s * rgm qrft * c-dl6 qr E-+tur fuR qG I

g ffis"r nRRerd ofu ftarr lfrEerqr * s lr+aor ?r

when due except in the following cases:
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(i) Mr. A who held 100 debentures did not pay first
and second and final call. r

(ii) Mr B who held 200 debentures paid the full balance
due along with first Call.

Journalise the above transactions. (10)

oR(
(a) Show by means ofjournal entries how will you record

the following issues of Debentures:

(i) P Ltd issues 5000, l0oZ Debentures ofRs 100 eachr.
at a di.scount of 5 0/o redeemable at the end of 5
years at par.

(ii) Q, Ltd issues 5000, i l % Debentures of RS 100
each at par redeemable at the end of 5 years at a
premium of 5olo

(iii) R Ltd issues 5000, 12% Debentures of Rs 100
each at a discount of 5% redeemable at the end of
5 years at premium of 5%. (

(iv) S Ltd issues 5000, l3%o Debentures ofRs 100 each
at a premium of 50% redeemable at the end of 5

years at a premium of 5%. (10)

(b) What is the difference between Capital Redemption
Reserve and Debenture Redemption Reserve? (5)

(v) One new machine wa
December, 20l. ,,..:.","rT;,"jrin 

the month or

(vi) Admiuistrative and S

3,60,000. 
ielling exPenses Paid Rs'

Calculate cash flows from (

##j":,, r;.;, * ".,"ili J:::"fiI'H#,,':;

11

Trade Creditors during the year

(r 0)

in cash and ca sh

(5)

I

(iv) Amounts paid to
Rs. 35,50,000

(
2

(b) What are the
equivalents?

items included

OR

(a) Give 5 examples each
Investing Activi,,* ;;;::i"rT;:, #Hil::
.as 

per the Accounting Standard 3. 
"- 

;;
(b) What are uses of cash I

limitations? 
low statement? What are its

(s)
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(o) rw i' r+fr

(t+) ot fu rsu

(r) rR-rm< Efr ?-{ n-du

('r) +s Bic'EE

(v) amrar <a

(v) ffin$a* + ftfr< Yr ErF

(a) qqn €urrdr
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(u) ufut i Srnm fus .rs qc

(a) amBa aumr

(u) *roru) t i-++ q{ trfrqq

(a) Surya Ltd. gives you the following information for the

year ended 3l't March, 2015 (

(i) Sales for the year Rs. 58,00,000. The company

sold goods for cash only.

(ii) Dividend paid during the year Rs. 1,40,000

(w-) aus-* * *'q-r t frfur ss fttu qt qftq tqff fttuql

(re) x ftR& i cR Eorrd s dct fr ql w <rffi*' erkcr<

* frs roo wt * ro,ooo xq€ urt frsr tc ar+fi
trrqRr zs w+ 'ft irk Mr rs q-6R +q *:

en+eq qt ao tqt

{EA Btd Yr rs tqt

Enfr o}( irFd{ Ei-d rR ls cc}

e5,000 EUr{r+ + frS on+r{ sm ESr ffifr< qrr* t
Ets-6{ ic *} qt vsft lrM crq d rT'{:

(i) fr A, &# roo aqqe rd +, + {6-e ufu E*t ufu

i{Rc 6iH'6l y{dm +& ft'qr

(ii) * s, frrd+ 2oo ruFr* (A +, +.Gff si"tr +
Itrq-{M ?q {t *u ffir qr $nrr fuqrr oqtr
Rq*wd-a{frfrsr
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(o) v-{a uRfu} * qrtqq * ffi fr enc Eorr+ 6r ffrqRfr{d

fr'tm *+ ffi€ Eti:

(i) P ftfras (r1s Yr s s{ * er< i ffiq sx fr

((

4

2

(iii) Tax paid during the year amount to Rs 1,70,000
P.T.O
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qr q{ loo nqa * sooo, 10% aqr{ vrt o.wr *
(ii) a frRas sz *ffi+tvt s s{ + ird+ ffiq

qqTs vt roo wt d 5ooo, llyo aqv-e qrt qnn
+

(iji) n frfrts 5% + fffto-t y( s s{ * ird + ft+q sx
fr W v< roo wt * sooo, 12yoa"rr* m J.,,
ir

iu) s ftfrts sZ * ffhqq w s s{ * srd + fr+q sz
+ ffRqq qt roo xq* * sooo, t3%oa"rq-* vrt o.rar
il

9

(i) Cash in Hand

(ii) Provision for Tax

(iii) Provision for Doubtful Debts

t99t

I

(

(iv)

(v)

(vi)

(vi0

(viii)

(ix)

Bank Overdraft

Outstanding expenses

Loss on issue of Securities

Trade Debtors

Expenses paid in Advance

Unclaimed Dividend

SIsfAI

3

(<<) tfr +q-{ ffi *r arq-* +aa ffi * *q qr r+t l?

Name and explain the major headings into which the Assets
side and Liabilities side of a Company,s Balance Sheet is
organised and presented, as per the Schedule III of the
Companies Act 2013. (15t

OR

How will you disclose the following items while preparing
Balance Sheet of a company as per schedule III of

(x) Premium on Redemption of Debentures. (15)

Y+ u-gre rt&*r- w 
"rq 

qtlrg sllT vcHrs ftR+ qtrff irDfr{c, zotsd s-d$ m + s-gsr 6ffi + 11-f{ rri 6.r cfucfr cH B+r
tq-or qa srABi d{ rqr B.qr qrar *r
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*l-+ sDRcq zors * wgqff m + !qqT{ ftffi otft +r ga_a
q-* iqr q''<i vlrzr sFr ffifu q& q.r y-+-&*rq *t s6tli

Companies Act 2013.
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